Chapter21HW
Short Answer

1.
Answer the following questions based on the table. A consumer is able to consume the following bundles of rice and beans when the price of rice is $2 and the price of beans is $3.

	RICE
	BEANS

	12
	0

	6
	4

	0
	8


	a.
	How much is this consumer's income?

	b.
	Draw a budget constraint given this information. Label it B.

	c.
	Construct a new budget constraint showing the change if the price of rice falls $1. Label this C.

	d.
	Given the original prices for rice ($2) and beans ($3), construct a new budget constraint if this consumer's income increased to $48. Label this D.



2.
List and briefly explain each of the four properties of indifference curves.

3.
Assume that a person consumes two goods, Coke and Snickers. Use a graph to demonstrate how the consumer adjusts his/her optimal consumption bundle when the price of Coke decreases. Carefully label all curves and axes. What will happen to consumption if Coke is a normal good? What will happen to consumption if Coke is an inferior good? 

